
 

Q1.  A charge of +67.6 nC is placed at the origin in a uniform electric field that is directed along the 

positive y-axis and has a magnitude of 2.73×104 V/m. The work, in the unit mJ, done by the electric 

field when the charge moves to the point (3.35 m, 5.16 m) is: 

 

A) -9.52 

B) 9.52 

C) 6.18 

D) -6.18 

E) 11.4 

 

 

Q2.  An isolated conducting sphere has a radius of 𝑅 = 0.726 m and a charge of +12.4 nC. Point A is at 

3𝑅 from the center of the sphere.  If VC is the electric potential at the sphere center, what is the electric 

potential difference VC – VA, in the unit V? 

 

A) 154 

B) 51.2 

C) 102 

D) 32.2 

E) 42.5 
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